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Process of connecting two or more devices and
allows the sharing of data/information

(A) HTML

(B) Networking

(C) CSS

(D) JavaScript

A server runs a special network operating
system :

(A) LINUX

(B) NODE

(C) CSS

(D) None ofthese

A is a network that is used for
communicating among computer devices, usually
within an office building or home.

(A) WAN

(B) MAN

(C) LAN

(D) None of the above

It consists of two or more LANs connected
together using high-speed (1.544 Mbps to 155
Mbps) transmission lines. It connets smaller
networks (LAN) within a city or town.

(A) WAN

(B) MAN

(C) LAN

(D) None of the above
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Define Bus Topology.

(A) Itisamultipoint connection, one long cable
acts as a backbone to connect all the
devices in a network

(B) It has a dedicated point-to-point link to
every other device. The term dedicated
means that the link carries data traffic only
between the two devices it connects.

(C) Eachdevice has a dedicated point-to-point
link only to a central controller, usually
called a hub or switch

(D) None of the above

_____isaconnecting device which is somehow
works in the place of a hub. Unlike hub, it work
on the layer 2 (data link layer) of the OSI model
and also follows full duplex (two-way
communication at the same point of time) mode.
(A) Repeater

(B) Switch

(C) Bridge

(D) Router

OSI stands for :

(A) Open Systems Interconnection
(B) Online Systems Interconnection
(C) Open Systems Internet

(D) Online systems Ideology

Repeaterisusedin:
(A) Mesh topology
(B) Ringtopology
(C) Bustopology
(D) Star topology
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10.

11.

12.

13.

Which transmission media has the highest
transmission speed in a network?

(A) Coaxial cable

(B) Twisted pair cable

(C) Optical fiber

(D) Electrical cable

ISP stands for :

(A) Internet Service Provider

(B) Internet System Provider

(C) International Service Provider

(D) International System Program

The network of networks is called :
(A) LAN

(B) Internet

(C) Networks

(D) All ofthe above

______isanicon, graphic, or text in a document
that links to another file or object.

(A) Script link

(B) Hyperlink

(C) Cascade link

(D) None of'these

is an electronic document written in a
computer language called HTML.
(A) DHTML
(B) HTML
(C) Web
(D) None of the above
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14.

15.

16.

17.

18.

_______isone or more web pages, belonging to
a particular company, institute, government or
anindividual :

(A) Website

(B) Web page

(C) jsfile

(D) None ofthe above

HTTPS stands for :

(A) Hypertext Transfer Protocol Service
(B) Hypertext Transfer Protocol

(C) Hypertext Transfer Protocol Secured
(D) Hypertext Transfer Protocol

is a form of broadband connection as it
provides connection over ordinary telephone
lines :
(A) Digital subscriber line
(B) Integrated Services Digital Network
(C) Dial-up Connection
(D) Wireless Internet Connection

In the web URL "www.railway.com" the domain
nameis :

(A) www

(B) railway

(C) .com

(D) railway.com

This service is a type of hosting services that
builds the technical skills and knowledge :

(A) Website Builders

(B) Shared hosting

(C) Dedicated hosting

(D) None of the above
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19.

20.

21.

22.

___issimplyaset of rules and guidelines for
making the communication among two or more
communicating devices. These rules are defined
for every process during communication :

(A) Protocol

(B) HTML

(C) Internet

(D) None of the above

_____ asoftware system that is developed to
search the information from the internet
especially from the World Wide Web.

(A) www

(B) Web browsers

(C) Internet

(D) Search engine

_____sometimes called a spider, is a bot (as
explained earlier) that browses the World Wide
Web :

(A) Indexer

(B) Web crawler

(C) Database

(D) None of the above

_ isdefined as going through information
without any aim on different subjects on the
different websites :

(A) Searching

(B) Web browsing

(C) Web surfing

(D) None of the above
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23.

24,

25.

26.

27.

It is a mechanism that puts the paper based
work to be transformed and governed by the
convergent media with the utilization of ICT is
known as:

(A) E-governance

(B) Government protocol

(C) Market promotion

(D) None of these

G2B, G2C, G2E and G2G are the types of :
(A) E-pathshaala

(B) E-governance

(C) E-communicator

(D) None of the above

It is the premier science and technology
organization of government of India in
Informatics services and information and
communication technology applications.

(A) National Informatics Centre

(B) E-governance

(©) ICT

(D) None of the above

It is a language of writing web pages. This
document contains plain text; it can be written
in even the simple text editor :

(A) SGML

(B) HTML

(©) CSS

(D) JavaScript

The <!IDOCTYPE htmI> declaration defines :
(A) HTML 5 document

(B) HTML 4 document

(C) XHTML document

(D) All ofthe above
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28.

29.

30.

31.

32.

In CSS class & ID symbolizes with :
(A) dot (.) & hash (#)

(B) plus (+) & minus (-)

(C) star (*) & dollar ($)

(D) None of the above

As per data received from physical layer, the
___ checks for physical transmission errors
and packages bits into data frames.

(A) Data link layer

(B) Physical layer

(C) Network layer

(D) Session layer

With ~ method the data is encoded into
a URL by the browser for transportation to
server.

(A) PUT

(B) POST

(C) GET

(D) SERVER

dotted, dashed, solid, groove are the values for
styling  instylesheets

(A) text

(B) border

(C) background

(D) anchor

The CSS3  allow us to exhibit smooth
transitions between two or more precise colors.
(A) Gradient

(B) border

(C) padding

(D) All ofthem
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33.

34.

35S.

36.

The method concatenates all the 2D
transform methods under one method.

(A) rotate()

(B) scale()

(C) skew()

(D) matrix()

The
HTMLS.
(A) W2C, WHATHTML
(B) W3C, WHATWG

(C) WEB2, WHATHTMLS5
(D) WWW, HTTP

and the has developed

<header>, <footer>, <section>, <aside> etc.
are elements
(A) Semantic
(B) Persistent

(C) Server-Sent
(D) doctype

Define Java Script

(A) It is the programming language that
facilitates web pages to interact with client.

(B) a scripting language that enables you to
create dynamically updating content,
control multimedia, animate images, and
pretty much everything else.

(C) Itisalight weight, cross-platform, single-
threaded, and interpreted compiled
programming language

(D) All ofthe above
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(D) WWW, HTTP
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37. JavaScript supports :

38. Identifiers, Keywords, Literals, Operators,

39.

(A) Inheritance
(B) Encapsulation
(C) Polymorphism
(D) All ofthese

Separators are JavaScript
(A) Tokens

(B) Variables

(C) functions

(D) None of them

are containers for changeable values. It
can hold all kind of values and also the results of

computations.

(A) Classes

(B) Variables

(C) Objects

(D) All ofthe above

40. Identify the conditional operator syntax

(A) (condition) ? True : False

(B) (condition) ? False : True

(C) (condition) ? logical operator : True : False
(D) None of the above

11
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